

① $\mu x^r - ax + \varepsilon = 0 \quad k \Rightarrow \frac{x}{\mu} \rightarrow \mu x \frac{\varepsilon}{a} - \frac{x}{\mu} a + \varepsilon = 0 \xrightarrow{\times \mu} \mu^2 x - \mu a + \mu \varepsilon = 0 \quad \boxed{a=1}$

$k, \mu \beta \xrightarrow{x} \mu \beta^r = \frac{\varepsilon}{\mu} \rightarrow \boxed{\beta = \frac{1}{\mu}}$, $k \Rightarrow -\frac{x}{\mu} \rightarrow \mu x \frac{\varepsilon}{a} + \frac{x}{\mu} a + \varepsilon \xrightarrow{\times \mu} \mu^2 x + \mu a + \mu \varepsilon = 0 \quad \boxed{a=-1}$

المتغير المستقل: μ

② $\mu^4 x^r - (m+12)x + 1 = 0 \quad \alpha \beta = \frac{1}{\mu^4} \quad \alpha + \beta = \frac{m+12}{\mu^4}$

$\frac{1}{\sqrt{\alpha}} + \frac{1}{\sqrt{\beta}} = 0 \rightarrow \frac{\sqrt{\beta} + \sqrt{\alpha}}{\sqrt{\alpha\beta} \frac{1}{\mu}} = 0 \rightarrow (\sqrt{\beta} + \sqrt{\alpha}) \mu = \alpha + \beta + \mu \sqrt{\alpha\beta}$

$\mu x^r + \mu x + \mu = -1 \rightarrow \mu = -1$
 $\frac{\mu}{\mu^4} = \frac{m+12}{\mu^4} + \frac{1}{\mu^4} \rightarrow \frac{1}{\mu^3} \rightarrow \boxed{m=-1}$

③ $k x^r + k x^r - ax - r = 0 \quad \alpha + \beta = 1 \quad \alpha \beta = -r$

$x = -1 \rightarrow (k(-1) + k + a - r = 0 \rightarrow -\varepsilon + a - r + k = 0 \rightarrow \boxed{k = -\mu}$
 $x^r - x - r = 0 \rightarrow \boxed{x = \mu}$
 $\rightarrow \boxed{x = -1}$

④ $x^r + 4x + a = 0 \quad \alpha < \beta < 0 \quad \mu \alpha^r + \mu \beta^r = 12\sqrt{r} + 1 \quad a = 5$

$\mu \alpha^r + \mu \beta^r = \mu (\alpha^r + \beta^r) + \mu (\alpha^r - \beta^r) = 12\sqrt{r} + 1$
 $\mu (\mu^4 - \mu a) + \mu [(-4)(-2\sqrt{4-a})] = 4\sqrt{4-a} + 90 - 5a = 12\sqrt{r} + 1$
 $-5a + 4\sqrt{4-a} = -50 + 12\sqrt{r} \rightarrow \boxed{a=1}$

⑤ $x^r - vx^r - a = 0 \quad x^r = z \quad S = 0$

$z^r - vz - a = 0 \rightarrow \Delta = 4a \rightarrow z = \frac{v \pm \sqrt{4a}}{2} \rightarrow x^r = \frac{v \pm \sqrt{4a}}{2}$
 $P = x^r \mu = \frac{v \pm \sqrt{4a}}{2} \rightarrow P^r = \frac{a + v\sqrt{4a}}{2} \rightarrow \boxed{\mu P^r = a + v\sqrt{4a}}$
 $\mu P^r - \mu x \cdot P + 0 = \mu P^r \leftarrow S = 0$

$x_1 = -\frac{v + \sqrt{4a}}{2}$
 $x_2 = \frac{v + \sqrt{4a}}{2}$

$$\begin{aligned} \gamma u^r - au + b &= 0 \quad (\alpha + \frac{1}{r}), (\beta + \frac{1}{r}) \rightarrow \alpha\beta + \frac{1}{r}(\alpha + \beta) + \frac{1}{r} = \frac{b}{r} \Rightarrow -\frac{1}{r} + \frac{1}{r} + \frac{1}{r} = \frac{b}{r} \quad (4) \\ \gamma a u^r + au - \gamma &= 0 \quad \alpha, \beta \rightarrow \alpha\beta = \frac{-\gamma}{-r} \quad \alpha + \beta = \frac{-1}{r} \rightarrow \boxed{a=1} \quad (b=-\gamma) \\ &\quad \left[\frac{a\beta}{r} \right] = \frac{-1}{r} \end{aligned}$$

$$\begin{aligned} a(u^r - u) - b &= 0 \\ \alpha u^r - au - b &= 0 \\ \alpha\beta &= \frac{-b}{a} \quad \alpha + \beta = 1 \\ (\alpha + \beta)^r &= \alpha^r + \beta^r + r\alpha\beta \\ 1 &= \alpha^r + \beta^r - \frac{rb}{a} \\ | \beta - \alpha | &= \sqrt{(\alpha + \beta)^r - r\alpha\beta} = \frac{r}{\sqrt{a}} \end{aligned}$$

$$\begin{aligned} u^r - (a+1)u + a &= 0 \quad \xrightarrow{\text{عز فريب}} 1, \alpha \xrightarrow{\text{عز}} \frac{r}{r} \quad (1) \\ u^r - \varepsilon u + r &= 0 \\ u^r - (r\varepsilon + 1)u + b &= 0 \\ u^r - 10u + b &= 0 \Rightarrow \varepsilon = 10 \quad \begin{matrix} \nearrow \varepsilon \\ \searrow r \end{matrix} \rightarrow b = r\varepsilon \\ &\quad \Rightarrow r \perp \text{موازي} \\ &\quad P = r\varepsilon \end{aligned}$$

$$\begin{aligned} u^r + u - 1 - m^r &= 0 \quad \alpha^r + \beta^r = r \\ \alpha\beta &= -1 - m^r \\ \alpha + \beta &= -1 \rightarrow (\alpha + \beta)^r = \alpha^r + \beta^r + r\alpha\beta \\ 1 &= \alpha^r + \beta^r - r - r m^r \rightarrow \alpha^r + \beta^r = r + r m^r \rightarrow m = 0, r^r \\ \min u &= \frac{r}{r} \end{aligned}$$

$$\begin{aligned} y_5 = \frac{uA + uB}{r} &= -1 \quad y = 1 \quad y = a(u+1)^r + 1 \rightarrow au^r + r au + (a+1) = 0 \\ \alpha^r + \beta^r &= (\alpha + \beta)^r - r\alpha\beta = a = \varepsilon - r \left(\frac{a+1}{a} \right) \rightarrow a = \frac{-r}{r} \\ y &= \frac{-r}{r} (u+1)^r + 1 \quad \xrightarrow{\text{بجای مقرر}} y = \frac{-r}{r} + 1 = \frac{1}{r} \end{aligned}$$